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Løsning Opgave 4

Spørgsmål 4.1 (ca. 5 %)

public class Ejendom extends Forbrugssted

{


private String adresse;


private int postnr;


private String postdistrikt;


public Ejendom(int forbrugsstednr, String adresse, 



int postnr, String postdistrikt)


{



super(forbrugsstednr);



this.adresse = adresse;



this.postnr = postnr;



this.postdistrikt = postdistrikt;


}

}
Spørgsmål 4.2 (ca. 5 %)

public class Forbrugssted

{


private int forbrugsstednr;


private Vector ejere;


public Forbrugssted(int forbrugsstednr)


{



this.forbrugsstednr = forbrugsstednr;



this.ejere = new Vector();


}


public void tilknytEjer(Ejer ejer)


{



ejere.addElement(ejer);


}

}
Spørgsmål 4.3 (ca. 5 %)


public String hentOvertagetDato()


{



return overtagetDato;


}


public String hentNavn()


{



return navn;


}

Spørgsmål 4.4 (ca. 15 %)


public String findNuvEjer()


{



String dato, nyesteDato = "0";



int nyesteEjernr = 0;



for(int i=0; i<ejere.size(); i++)



{





dato = ((Ejer)ejere.elementAt(i)).hentOvertagetDato();




dato = konverterDato(dato);




if (dato.compareTo(nyesteDato)>0)




{





nyesteDato = dato;





nyesteEjernr = i;




}



}



return ((Ejer)ejere.elementAt(nyesteEjernr)).hentNavn();


}


private String konverterDato(String dato)



//pre: 
dato på formen DDMMYYYY


//post:
dato på formen YYYYMMDD

{



String konverteretDato = dato.substring(4,8)














+ dato.substring(2,4)














+ dato.substring(0,2);



return konverteretDato;


}
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